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k|b]z nf]s ;]jf cfof]u   

k|b]z g+= @, hgsk'/wfd  

k|zf;g zfvf   

a9'jf lj1fkg ;"rgfdf b/vf:t lbg ;do yk ul/Psf] ;"rgf 

  ;"rgf g+= 6÷078-79      k|sfzg ldlt 2078/5/3  

ldlt @)&*.#.#! ut] k|sflzt a9'jf la1fkg ;"rgfdf ;]jfsflng tflnd 

k|df0fkq afx]s k|b]z lghfdtL ;]jf P]g, @)&& adf]lhd a9'jfsf] nflu 

Go"gtd of]Uotf k'/f u/]sf ;DefJo pd]bjf/x?nfO{ bf]Aa/ b:t'/ lt/L b/vf:t 

lbg ldlt @)&*.%.( ut];Ddsf] ;do yk ul/Psf] Joxf]/f cfof]usf] ldlt 

@)&*.%.@ ut]sf] lg0f{ofg';f/ ;DalGwt ;a}sf] hfgsf/Lsf] nflu of] ;"rgf 

k|sfzg ul/Psf]5 .   


